


In-place sorting algc

Time complexity - O(1




A heap is also known a
can be represented by
following properties:

Structure property: A hea

binary tree with tk
which is filled frc

heap, the parent
of x.

(known as a.







Step 1. Build Heap - O(n)

- Build binary tree taking
the heap structure propert
build a complete binary tree.

- Heapify the bine ee makin;
satisfies the Heap ( roperty.

Step 2. Perform n

- Delete the ma>
the root node, an
sorted array.
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For speed and efficiency
Place the root at array ine
at index 3, so on and so fc
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For any node
The index of it
aX 0 child




Start with unorderec
Array representation:
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Binary tree represe







Step 2 — perform n - 1 de
heap with first, then M

position. ¥

////// \\\\\\

P s
S 74N
10 © ®& ©

A\ I

2125199 127 1583 2
IL]




26 (7




9] 12
@/ \@ @/ \@

9 123 2 5 7 |1921 25 45




especially for v

Cons: slower




